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ODDS	
  RATIO	
  de	
  Cardiopatía	
  estructural	
  
	
  

	
  
	
  
	
  
ODDS	
  RATIO	
  =	
  4	
  	
  esto	
  quiere	
  decir	
  que	
  es	
  4	
  veces	
  mayor	
  de	
  enfermar	
  a	
  un	
  paciente	
  enfermo	
  de	
  
FA	
  si	
  el	
  paciente	
  padece	
  de	
  una	
  cardiopatía.	
  
	
  
	
  
ODDS	
  RATIO	
  CARDIOPATIA	
  HIPERTENSIVA	
  
	
  
Pacientes	
   Enfermos	
   Sanos	
   Totales	
  
CH	
   150	
   252	
   402	
  
SCHI	
   150	
   488	
   592	
  
Totales	
   300	
   700	
   1000	
  
	
  
ODDS	
  RATIO	
  =	
  1.777	
  
Quiere	
  decir	
  que	
  es	
  casi	
  2	
  veces	
  a	
  padecer	
  de	
  FA	
  en	
  el	
  caso	
  de	
  que	
  el	
  paciente	
  se	
  encuentre	
  
enfermo	
  de	
  HTA	
  
	
  
	
  
	
  
RESPUESTAS	
  	
  DEL	
  CUESTIONARIO	
  
1.En	
  esta	
  ocasión	
  se	
  puede	
  decir	
  que	
  los	
  casos	
  fueron	
  bien	
  definidos	
  por	
  grupos	
  en	
  sus	
  
respectivos	
  campos	
  como	
  de	
  inclusión	
  y	
  exclusión	
  considerando	
  como	
  positivos	
  a	
  la	
  FA	
  	
  a	
  los	
  
que	
  acudieron	
  a	
  consulta	
  por	
  primera	
  vez	
  asi	
  como	
  previamente	
  hecho	
  su	
  electrocardiograma	
  
que	
  demostraba	
  la	
  presencia	
  de	
  la	
  FA.	
  
	
  
2.	
  para	
  mi	
  los	
  casos	
  fueron	
  de	
  prevalencia	
  ya	
  que	
  se	
  mostraban	
  casos	
  de	
  casos	
  y	
  controles	
  ya	
  
que	
  son	
  prospectivos	
  enfocados	
  a	
  analizar	
  los	
  factores	
  de	
  riesgo.	
  	
  
	
  
3.	
  los	
  controles	
  fueron	
  seleccionados	
  de	
  la	
  misma	
  población	
  pero	
  faltando	
  en	
  la	
  misma	
  cantidad	
  
de	
  equipos	
  ,	
  por	
  lo	
  que	
  no	
  se	
  considera	
  equitativo.	
  	
  
	
  

	
   Pacientes	
   	
   Enfermos	
   Sanos	
   Totales	
  
CE	
   240	
   0	
   240	
  
SCE	
   60	
   700	
   760	
  
Totales	
   300	
   700	
   1000	
  



4.	
  no	
  son	
  comparables	
  	
  ya	
  que	
  son	
  mas	
  de	
  un	
  grupo	
  por	
  lo	
  que	
  nos	
  lleva	
  a	
  tener	
  sesgos.	
  
	
  
5.	
  son	
  	
  adecuados	
  pero	
  si	
  puedo	
  considerar	
  que	
  hubiesen	
  podido	
  ser	
  mejores	
  y	
  asì	
  obtener	
  
mejores	
  resultados	
  y	
  hay	
  menos	
  facilidad	
  de	
  obtener	
  sesgos.	
  
	
  
	
  
	
  
	
  


